Coordinates

Quadrant number where point lies in:

1) 7(5,-1) U=2,-4) 71(3,4)

A

Al
4

A

Y

3) D(-2,0) (-3, 2\) B(0, 3)

Al
4

A

1
v
|
=Y
|
A
!
5
I
-
=Y

2) D(1,4) E(-4,5) F(-5,-3)

A

\y

o
>

A
4

LY
I

r 5]

A

=

A
4

£y
]

- 3]

=Y

<
-<

wY



5) E(4,0) F(-3, —%) G(-1,3) 6) N(-3,1) M(-3,3) L(-4,2)

:—5 -4 3 2 4l 4 ;x <—5 “4 3 2 4l 4 i
Y K\V
7) £(0,3) M(1,-3) N(0,-5) 8) 43,4) B(-4,2) c(1,0)
Ay Ay
<5 B 2 1 ;x <5 B 2 4 ;x
_‘w <
9) E(5,-4) F(0,-3) G(2,2) 10) 7(-1,3) S(-3,-4) R(@4,1)
,A ¥y Ay
<5 I B £ a0 1 i 5 & 5 & di i

= =2
= =3
£

A Y



11) D(-2,5) E(—4,-2) F(0,-1) 12) U(0,-2) 71(-2,-4) 5(-3,-4)

,‘\
<5 4 B b 1 ;x <5 W B b i 4 i
Y K\V
13) 1(-5,-4) H(-4,-4) G(-1,-1) 14) M(2,-4) L(-4,3) K(-3,-1)
Ay Ay
5 & B & Ji 1 ;x 5 & 3 2 4 ;x
Y —5\7
15) H(-5,2) 1(3,-3) J(-4,0) 16) S(5,-3) R(-4,-4) 0(-5,-2)
,A y Ay
<—5 “4 B3 2 4l 4 i <—5 “4 3 2 - 4 i
Y :V




17) U(1,-2) v(-4,

5) 4.-3)

4_ 3 ;x
Y
19) F(-5,-4) G(0,-4) H(-2,2)
Ay
4_ 3 ;x
4
21) L(-4,1) K(-5,3) J(-2,-5)
Ay
<_ 3 ‘;

18) ¢(5,0) D(-5,

) E(2,-4)

<5 W B b i i
¥
20) B(0,3) <(-5,5) D(4,-3)
Ay
5 & 3 2 ;x
B’
22) P(0,2) 0(5.-2) R(-4.5)
Ay
5 & 5 & di i




23) D(-1,5) <(5,-1) B(3.4)
Ay

<% :x
Y
25) 12,2) H(5,-5) G(-3,4)
Ay
!
27) U(-2,5) v(2,4) w(2,-2)
Ay

24) 8(-5,3) 71(-5,5) U(-5,-5)

s
o

A
4

Q.
>

LY
Z|

< >
¥
26) E(5.5) F(5,-4) G(2.4)
Ay
<5 O 4 ;x
B’
28) J(1,-5) 1(5,3) H(0,3)
Ay
R i




29) L(-2,-5) M(4,1) N(-1,3)
Ay

Y
31) F3,-3) G(1,5) H(4,5)
Ay
!
33) G(—4,0) H(4,3)
Ay

30) R(0,-3) S(4,5) 1(-4,2)

t\y
<5 W B b i i
Y
32) C(4,-2) B4, -1) 4(4.1)
Ay
5 & 3 2 ;x
¥
34) F(-2,-1) E(-1,3) D(-1,-1)
Ay
5 & 5 & di i




35) D(0,-1) E(4,-4) F(3,0)
Ay

A

37) K(3,0) L(4,1) M(-1,-3)
Ay
Yy

39) F(1,4) G(3,4) H(3,-3)
Ay

36) S(-4,2) R(3.,5) 0O(-2,-1)

s
o

A
4

Q.
>

LY
Z|

<—5 4 3 2 4l 4 i
¥
38) I(-1,-2) J(-2,4) K(2,-5)
Ay
<5 B 2 4 ;x
B’
40) E(5,4) D(3,-4) (5.-3)
Ay
<5 B 2 4 i




41) 7(2,3) U(3,3) v(-4,-2)
Ay
4_5 ;x
Y
43) (-2,4) D(-4,2) E(-5,0)
Ay
< ;x
!
45) J(-1,3) 1(-5,2) H(-1,-4)
Ay

42) K(-3,-5) J(3,1) 1(1,-4)

s
o

A
4

Q.
>

LY
Z|

<—5 “4 3 2 4l 4 i
¥
44) P(1,-4) 0(2,-5) R(-1,-4)
Ay
{-5 4 B3 2 4 ;x
¥
46) D(0,-1) (1,-3) B(-5,5)
Ay
:—5 “4 3 2 - 4 i
¥




47) S(-4,-3) 1(2,3) U(-2,-5)
Ay

:—5 -4 3 2 4l 4 ;x
Y
49) H(2,0) 1(2,1) J(3,4)
Ay
4-5 4 B P2 4 ;x
4
51) U(-2,3) v(1,-1) w(-3,2)
Ay
4-5 4 B P2 4 i

48) E(—4,-1) F(2,4

G(5,5)

,“y
<5 W B b i i
Y
50) L(-1,0) M(2,-2) N(2,4)
Ay
5 & 3 2 ;x
¥
52) H(-5,-5) G(3,1) F(4,1)
Ay
<—5 “4 B3 L2 4 i
’




53) 7(2,1)  s(1,3) A R(-1,3) 54) D(1,4) E(0,4) ) F(-5,2)

o

A
=Y
A

=Y

Y ;
55) G(—4,5) H(1,1) 1(4,1) 56) J(4,5) k(1,-1) L(3,1)
Ay Ay
4-5 4 B P2 1 ;x {-5 4 B3 2 ;x
B <
57) G(-5,0) F(1,2) E(-4,4) 58) ¢(5,3) B(0,-3) 4(-4.,1)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di i
Y :V

-10-



59) S(—4,-4) R(0,3) 0O(1,0)
Ay

A
61) J(-3,-1) K(-1,0) L(4,-2)
Ay
Yy
63) (-5,-2) D(-1,4) E(-3,-2)
Ay

60) 7(3,-3) U(-1,-1)

4

\y

7(-5.3)

o

<—5 -4 -3 4 i
¥
62) K(-2,-1) J(0,-1) 1(4,-3)
Ay
" B 4 ;x
B’
64) F(3,-2) G(-1,2) H(-5,-2)
Ay
<5 4 B 4 i
¥

-11-




65) R(2,1) Q(—1,4)\ P(2,-3) 66) L(-5,5) M(-3,0) N(-3,3)

tl\y
<5 4 B b 1 ;x <5 W B b i 4 i
Y K\V
67) S(-2,2) 71(-1,0) U(0,-4) 68) S(-3,4) R(-4,-1) o(1,-1)
Ay Ay
5 & B & Ji 1 ;x 5 & 3 2 4 ;x
_z\y —5\7
69) E(-3,3) F(-2,2) G(-3,-5) 70) J(3,5) 1(-2,-1) H(-5,5)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di 4 i
Y :V

-12-



71) K(-1,5) L(-2,-5) M(5,5) 72) B(1,3) <(-2,4) D(-2,-5)
Ay Ay
:—5 “4 3 2 4l 1 ;x <—5 “4 B3 L2 4 4 i
Y K\V
73) D(-2,4) C(4,4) B(4,-5) 74) U(-2,-4) v(-2,-3) w(0,3)
Ay Ay
<5 B 2 1 ;x <5 B 2 4 ;x
B’ B’
75) 1(-5,-5) U(3,-2) V(-1,-1) 76) I'(3,-5) S(-2,0) R(3,4)
Ay Ay
<5 4 B 2 1 i <5 B 2 4 i
Y :V

-13-



77) D(2,-2) E(-3, ?I) F(-2,3) 78) I1(-2,-1) H(-3,-1) G(-4,2)

,“y
<5 4 B b 1 ;x <5 W B b i 4 i
Y KV
79) J(5,-1) K(-3,-4) L(-5,2) 80) E(—4.4) D(5,1) <(-1,3)
Ay Ay
5 & B & Ji 1 ;x 5 & 3 2 4 ;x
B B’
81) 7(5,2) U(-3,-2) ¥(2,0) 82) U(-5,0) 1(0,-3) S(-5,1)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di 4 i
Y :V

-14-



83) F(4,3) G(—4,-1) H(-1,-2) 84) c(-4,3) D(-4,2) E(0,-1)

,‘\
<5 4 B b 1 ;x <5 W B b i 4 i
Y K\V
85) S(-3,0) R@4,1) 0(0,4) 86) K(0,4) J(-4,-4) I1(-4,-1)
Ay Ay
5 & B & Ji 1 ;x 5 & 3 2 4 ;x
_‘w <
87) L(-5,4) M(—4,4) N(-5,-2) 88) R(3,-5) 0(-5,0) P(5,-2)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di 4 i
Y :V

-15-



89) S(-1,-4) 71(-4,-2) U(3,-3)
Ay

<5 & 3 B O 4 ;x
Y
91) D(-5,5) «<(-3,-4) B(3,2)
Ay
<5 S5 2 3 ;x
<
93) J(5,-2) 1(-5,-4) H(-2,-5)
Ay
<5 I B £ a0 3 i

90) 4(1,-3) B(-5,2) c(1,-4)

s
o

A
4

Q.
>

LY
Z|

3
92) E(-2,-3) F(-5,0) G(0,-4)
Ay
=
94) R(la _3) Q(5> 5) P(_3) _4)
Ay

-16-




95) X(0,-1) L(-5,4) M(-3,-5)
Ay

A
=Y

97) U0, 1) ¥(5,-5) w(3.5)

Ay

A
=Y

99) U(3,-4) v(4,-5) w(l1,2)

>

A
=Y

96) R(4,0) s(5.-2) 71(5,4)

c‘y

o

A
4

Q.
>

LY
Z|

A

98) D(3,2) E(5,0) F(1,4)

4

=Y

A

%Y

- S5

A

-17-

=Y




101) F(-2,-1) G(4,-5) H(-4,-2) 102) M(5,-1) L(3,3) K(5,-2)

1(-4,2)  J3, -\5) J(=3,3) I1(3,1

)
Ay

Al
4

LY
]

Al
Z Z]

A

A

=Y

5 & B h

=Y

N e

2 2
= =J]

¥ Y
103) E(-2,3) F(5,4) G(-4,-3) 104) P(-3,1) 0(3,-3) R(-2,5)
tAy Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 3 L2 4l ;x
_‘w <

-18-



105) S(4,2) 73,5 U(2,-3) 106) J(2,-1) K(-4,2) L(-4,0)
v(-1,-4) w3, \—3) M(4,0) N(1,32

\y

£l
J

4 4
4 B

LY
]

Al
Z Z]

A
A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
107) G(-4,3) F(3,-1) E(-1,-4) 108) G(3,3) H(3,-5) 1(-2,-5)
D(0,-2) ¢(0,-3) J(1,-1) K(3,5)
Ay Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 3 L2 4l 4 >x
_‘w <

-19-



109) J(-1,5)
M(1,0)

K(3,3)

rs

N(3,0)
A

y

Al
4

A

’
111) 4(5,-4) B(1,2)
D(5,5) EB,2)

Ay

=Y

A

=Y

110) F(0,-5) G(5,2)

1-5,2)  J(-2,3)

£l
J

A
4

LY
]

Al
Z]

A

-5

3%]

2
=J]

<

=Y

112) P(2,-5) 0(2,-3) R(4.5)
$3,2)  1(3,1)
tAy
{-5 - 2 >x

-20-




113) B(2,5) «<(3,4) D(4,3) 114) H(1,-3) &(1,-1) F(0,4)
E(3,-4) F(4,2) E(5,5) D(3,-3)

\y

rs

J

4 4
4 B

LY
]

Al
Z Z]

A

A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
115) G(0,1) H(2,1) 1(-2,-4) 116) 7(4,4) 5(3,2) R(-4,-2)
tl\y ,Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 B3 L2 4l 4 >x
_z\y B’

-21-



117) H(-3,-2) 1(2,-5) J(-1,3)
K(-5,-4) L(3, ?:)

Al
4

A

119) O(1,-5) R(5,1) S(=2,0)
7(3,-5) U(1,0)

Ay

=Y

A

=Y

118) O(-4,0)

R(1,-3) 5(-5,2)

r(-2,-2) U(3,0

K

\y

A
4

LY
]

Al
Z]

A

3%]

2
=J]

120) B(0, 1)

<

c(1,2) D(3,1)

E(-1,1) F@4,1)

\y

>

A
4

LY
I

A
Z]

=Y

A

-22-

%Y



121) E(-4,3) F(0,-1) &(2,0) 122) H(2,3) 1(0,-4) J(0,-1)
H(0,2) 1(4, —4? k(0,3) 1(4,2)

Ay

4 4
4 B

A
A

=Y

5 & B h

=Y

N e

2 2
= =J]

’ ’
123) 5(0,-5) 71(-1,1) U(5,-3) 124) 0(4,-1) R(0,1) S(-3,1)
Ay Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 B3 L2 4l >x
B’ ¥

-23-



125) R(1,5)  s(0,-2) 71(-4,-1) 126) G(5,-4) F(0,2) E(5,-2)
U2,-4) v(4, -2 D(4,-2) (4,0)

Ay y

4 4
4 B

LY
]

Al
Z Z]

A

A

=Y

S5 4 B3 2 4 i i S5 4 B3 2 4l b k 4
¥ Y
127) D(-2,0) E(-4,-5) F(4,3) 128) F(1,-4) G(-1,-1) H(3,-3)
G(_37 4) H(_la 0) I(Sa _2) J(4a _5)
tAy Ay
<5 S5 2 ] 3 ;x 5 & B 2 i 1 3 4 >x
_‘w <

-24-



129) 1(-4,-3) J(-1,-4) K(2,-3) 130) H(4,4) I(—4,-1) J(1,1)
L(-5,0)  M(4, {) K(—4,-5) L(—51,\4)

J

4 4
4 B

LY
]

Al
Z Z]

A

A

=Y

S 4 B L2 - § S 4 B L2 - y 3 4 i
¥ ¥
131) F(-1,-5) G(-4,5) H(-2,4) 132) S(—4,0) 71(-1,-2) U(-2,-5)
tl\y Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 B3 L2 4l 4 ;x
Y ¥

-25-



133) 7(0,-2) S(-1,0) R(-1,-4) 134) H(-1,1) G(-1,2) F(-5,-5)

0(-4,2) P4,2) E(-1,5) D(4,-2)

\y
<—5 “4 3 2 4l § i <—5 -4 3 2 4l y 3 4 i
¥ ¥
135) M(4,-2) L(-2,2) X(5,0) 136) G(-5,1) H(-1,0) 1(4,5)
tl\y ,Ay
<5 B 2 1 ;x <5 4 5 & i 4 >x
B’ ¥

-26-



137) J(3,2)

M(O: —4) N(4’ —1)
Ay

K(-2,-4) L(3,5)

Al
4

A

139) B(-2,2) «<(3,-3) D(0,-1)

E(-4,2) F(-3,4

Ay

=Y

A

=Y

138) 0(5,4)  R(2,1) 5(0,4)
7(1,-2) U4,1)

Ay

A
4

LY
]

Al
Z]

A

5 & B h

3%]

2
=J]

<
-<

140) H(4,5) G(-2,3) F(-3,2)
E(3,2) D(4,-3)

c\y

>

A
4

LY
I

A
Z]

=Y

A

-27-

%Y



141) 4(-3,5)
D(3,0)

B(-2,-5) «¢(-2,3)

E4,2)

/

rs

\y

Al
4

A

143) J(5,3)

K(1,-3) L(4,-5)

=Y

M(1,5) N(5,-5)
Ay

<-5 “4 3 2 4l ;x
_‘V

142) H(1,-5) 1(-2,0) J(-5,1)
K(4,3) I(5,3)

£l
J

\y

A
4

LY
]

Al
Z]

A

=Y

5 & B h ' E I

3%]

2
=J]

<
-<

144) 0(0,-2) R(-3,1) s(2,1)
7(—4,-5) U(5,-1)

Ay

>

A
4

LY
I

A
Z]

A
%Y

-28-



145) S(-4,-3) 1(1,-3) U(4,5) 146) B(-2,-4) ¢(0,-3) D(-4,0)

t;\y Ay
<—5 “4 3 2 4l § i :—5 -4 3 2 4l y 3 4 i
’ ’
147) 1(-2,-1) H(-3,3) G(-2,-2) 148) 1(-5,0) J(-3,0) K(-4,-1)
Ay Ay

>

A
4

LY
I

A
Z Z]

A
=Y
A

%Y

-29-



149) B(3,-1)  c(-4,-5) D(-1,0) 150) J(5,-2) K(-2,-4) L(2,5)
E(-3,-2) F(5, (3) M(3,0) N(—l,ﬁ)

4 4
4 B

LY
]

Al
Z Z]

A

A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
151) G(-3,-4) H(-5,-2) 1(5,-3) 152) ¢(-2,1) D(-4,-4) E4,2)
J(1,3) K(-1,-4) F4,1) 64,5)
tl\y ,Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 3 L2 4l 4 ;x
_z\y _5\7

-30-



153) F(4,4) G(-5,3) H(-1,-4) 154) R(5,2) S(-4,2) 71(4,-3)
13,-5) J(5,5) U,3) v(5,-2)

t\y Ay

<—5 “4 3 2 4l § i <—5 -4 3 2 4l y 3 4 i
i’ Y

155) ¢(-3,4) D(-5,-4) E(1,-4) 156) F(-5,-4) E(-3,-4) D(-5,4)

F(2,5) G(5-1 c(1,5) B(4,-1)
tl\y ,Ay

<5 B 2 1 ;x <5 4 5 & i 4 >x
B’ ¥

-31-



157) 7(4,-4) S(-5,5) R(-5,-5) 158) 1(0,-5) J(-5,0) K(-2,-4)
0(5,-2) P(5,1) L(4,-4) M(5,0)

Ay t\y
<—5 “4 3 2 4l § i :—5 -4 3 2 4l y 3 4 i
¥ ¥
159) S(-1,-4) 1(-5,2) U(5,5) 160) G(-1,-1) H(5,3) 1(1,4)
tl\y ,Ay
<5 B 2 1 ;x <5 4 5 & i 4 >x
B’ ¥

-32-



161) H(-1,-5) G(5,-5) F(0,3) 162) H(3,-3) G(-5,-4) F(2,4)
E(3,-4) D(1,§) E(-3,2) D(5, —3)

J

4 4
4 B

LY
]

Al
Z Z]

A
A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
163) 0(5.-3) R(-2,2)  S(-1,5) 164) U(-2,1) 71(5,5) 5(-3,3)
7(-5,5) U(-3,-1) R(0.-5) 0(-5.0)
tl\y ,Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 B3 L2 4l 4 ;x
B’ B’

-33-



165) G(5,2)  H(=5,2) 1(0,-4)
J(-5,-5) K(3, 2)

Al
4

A

167) 1(-3,3) H(5,-4) G((3,1)
F(1,-2) E(-5, -\4)

=Y

A

=Y

166) J(5,-1)

M(-2,4) N(-5,

£l

K(5,0) L(0,3)

_1)

\y

J

A
4

LY
]

Al
Z]

A

-5

3%]

2
=J]

168) J(4, 1)
M(-5,-3)

<

k(1,0) L(3,0)
N(-4,2)

\y

=Y

A

1

-34-

%Y



169) 4(0,3) B(5.-1) <(5,2) 170) H(4,4) 1(4,3) J(2,1)
D(0,-3) E(-5, {) K(2,0) L(-5, 2)‘

£l

J

4 4
4 B

LY
]

Al
Z Z]

A
A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
171) c(-1,0) D(4,2) E(-5,3) 172) E(3,-1) F(-2,4) G(4,-3)
F(5,-3) G(-1,-2) H@4,5) I(1,-5)
tl\y ,Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 3 L2 4l 4 >x
_‘w <

-365-



173) B(-5,-4) c(4,-1) D(-4,-2) 174) ¥(3,5) U(4,5)  1(-2,-1)

E(-5,5) F(-5,-1) 5(5,2) R(-5,-2)
EA y Ay

A

A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
175) 1(2,-3) H(4,-4) G(5,-3) 176) 1(-2,-3)  J(3,4) K(4,-2)
tl\y ,Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 3 L2 4l 4 ;x
_‘w <

-36-



177) 4(1,-5)  B(-3,3) <(-5,-2) 178) S(-3,0) r(3,-5)  U(-1,-4)
D(-2,-5)  E(0, {) 7(-1,-1) W(—SA, —4)

£l
J

4 4
4 B

LY
]

Al
Z Z]

A

A

=Y

S 4 B L2 - § S 4 B L2 - y 3 4 i
’ ’
179) F(3,4) G(-4,2) H(0,-2) 180) E£(3,-3) F(0,-3) G(-2,-2)
13,0)  J(-1,-5) H(5,1) 1(3,5)
Ay Ay
<-5 “4 3 2 4l 1 ;x {-5 “4 B3 L2 4l 4 ;x
3 ¥

-37-



181) (1, 1)

D(2,-1)
F(0,2) &(-5, —%)

Al
4

A

=Y

’
183) J(3,2) K(3.,4)
M(1,4)  N(-5,-1)
Ay
" ;x
_‘V

182) F(-4,2) G(3,-4)
1(1,2)  J(-5,4)

H(-5,-5)

£l
J

A
4

LY
]

Al
Z]

A

5 & B h

3%]

2
=J]

<
-<

184) B(1,0) «C(4,2)
E(5,2) F(-5,-4)

D(4.4)

>

A
4

LY
I

A
Z]

=Y

A

-38-

%Y



185) 7(-4,4) 5(2,-3) R(3,4) 186) S(2,5) 71(2,-5)  U(1,4)

0(3,-5) P(-4, q) v(4,-4) w(-4,-5)

4 4
4 B

LY
]

Al
Z Z]

A

A

5 ¢ B 2 T 5 ¢ B 2 1 3 >
¥ ¥
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oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-333-



592) K(-11,-20) J(-15,17) 1(14,9)
F(-5,-9) E(12,2)  D(-4,-2)

H(0, 19) G(-20, -9)
c(-10, —4? B(10,-14)

y

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-334-



593) K(9,-5)  J(-20,3)
F(3,-10) E(-19,-7)

1(19,13)  H(16,-11)  G(3,-6)
D(20,-3) c(-14, —16)‘ B(14, 13)

]

S A N A
h b K o hock B 8

R
oD W B Wt o g D D e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-335-



594) N(6,15)  M(12,18)
1(18,-20) H(17,5)

L(3,9)  k(18,18) J(6, 10)

G(-5,1) F(9,11)

E(-12,-10)
A

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-336-



595) 4(0,-7) B(6,2)  C(-2,-14)
F(7,0) G(-4,3) H(-3,2)

D(-15,-12) E(11,9)

1(-2,-9) ‘.](4, 12)

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-337-



596) E(-17,-20)
J(9, 14)

F(2,-7)  G(-13,11)
K(-9,-1) L(-18,18)

H(1,-10)  1(10, 12)

M(16,-19) N(13,-14)
A

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-338-



597) K(7,-5)  J(17,-8) I(-1,15) H(20,-3) G(-14,-15)

F(9,-15) E(-8,4) D(13,10) <(-19,19) 1?(4, 17)

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-339-



598) E(-8,11) F(-3,4)
J(=7,-12) K(7,-17)

G(3,-8) H(-5,16) 1(-19,8)
L(8,-15) M(8,-19) ‘N(7, 18)

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-340-



599) J(5,-9) 1(15,-20)  H(20,-5)
E(11,-11) D(-20,-19) c(1,-19)

G(-7,-4) F(18,-8)
B(-14, —5? A(-16,1)

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-341-



600) E(18,-20) F(-12,-12) G(5,-13)
J(-5,8) K(-20,-7)  L(7,15)

H(-17,6) 1(19,-16)
M(-5, —1)‘ N(-11,-10)

]

S A N A
h b K o hock B 8

N
oW B Uh gy ) g0 WD P e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

-342-



Coordinates

Quadrant number where point lies in:

1) 7(5,-1) U=2,-4) 71(3,4)

A

Al
4

A

Y

Al
4

A

1
v
|
=Y
|
A
!
5
I
-
=Y

\J

D: x-axis C:II B: y-axis

2) D(1,4) E(-4,5) F(-5,-3)

\y

o
>

A
4

LY
I

r 5]

A

=Y

D:1 E:II F:10

4) K(0,1) J(-3,-5) 1(-2,2)

=

A
4

£y
]

- 3]

A

|
O
|
Fsy
|
>
!
™
L
wY

Y

K:y-axis J: I I: I



5) E(4,0) F(-3, —%) G(-1,3)

A
=Y

Y
E:x-axis F: I G: 10

7) £(0,3) M(1,-3) N(0,-5)

Ay

A
=Y

Y
L: y-axis M:IV N: y-axis

9) E(5,-4) F(0, —3i) G(2,2)

A
=Y

Y
E: IV F:y-axis G:1

6) N(-3,1) M(-3,3) L(-4,2)

s
o

A
4

Q.
>

LY
Z|

A

8) 4(3,4) B(-4,2) «(1,0)

=Y

A

%Y

- S5

A

=Y

7:-I S:IOI R: 1



11) D(-2,5) E(—4,-2) F(0,-1)

A
Z
1
O S T R ] T S
Y

D:1I E:T F:y-axis

13) 1(-5,-4) H(-4,-4) G(-1,-1)
Ay

A
=Y

15) H(-5,2) 1(3,-3) J(-4,0)

Ay

=

1
< >
5 B £ T e

—Z

—4

Y

H:1O I: IV J: x-axis

12) U(0,-2) 71(-2,-4) 5(-3,-4)

o

A
4

Q.
>

LY
Z|

A
=Y

Y
U:y-axis 7:1I S: 10

14) M(2,-4) L(-4,3) K(-3,-1)
Ay

- S5

A
%Y

J
A
3
2
1
5 U B b 4 >
=
=
—4
£
Y

S:IV R:III Q: 10



17) U(1,-2) v(-4,5) w(4,-3)
Ay

:—5 -4 3 2 4l 1 ;x
Y
Uu:1v v:u w:1v
19) F(-5,-4) G(0.-4) H(-2.2)
Ay
<5 B3 b i 1 ;x
-
F: T G:y-axis H:1I
21) L(-4,1) K(-5,3) J(-2,-5)
Ay
<—5 “4 3 2 4l § i

L:I0 K: T J:- 1O

18) ¢(5,0) D(-5,

) E(2,-4)

A

Y

C:x-axis D: Il E: IV

20) B(0,3) c(-5,5)
A

D(4,-3)

\

A
4

- S5

=Y

A

(

B:y-axis C:1I D: IV

22) P(0,2) 0O(5,-2)

R(-4,5)

\

>

4
4

2.
I

- S5

%Y

A

(

P:y-axis O:IV R: 1T

=Y



23) D(-1,5) <(5,-1) B(3.4)
Ay

A

D:II C:IV B:1

25) 1(2,2) H(5, —5)\ G(-3,4)

J

=Y

A

y

27) U(-2,5) v(2,4) w(2,-2)
A

=Y

A

=Y

24) 8(-5,3) 71(-5,5) U(-5,-5)

s
o

A
4

Q.
>

LY
Z|

< g
¥
S:II 7-10I U: 10
26) E(5,5) F(5.-4) G(2,4)
Ay
<5 O 4 ;x
<
E1 F:1IV G:1
28) J(1,-5) 1(5,3) H(0,3)
A
R i

(

J:IV I:1 H:y-axis



29) L(-2,-5) M(4,1) N(-1,3)
Ay

A

Y
L:1TI M:1 N:1II

31) F(3,-3) G(1,5) H(@4,5)
Ay

=Y

<5 S5 2 1 ;x
4
F:IV G:1 H:1
33) G(—4,0) H(4,3) 1(2,0)
Ay
<—5 “4 B3 2 4l 4 i

Y

G: x-axis H:1 I: x-axis

30) R(0,-3) S(4,5) 1(-4,2)

c‘y

o

A
4

Q.
>

LY
Z|

A

Y
R:y-axis S:1 T:1I

32) C(4,-2) B@4,-1) 4(4.,1)

\y

rd

>

A
4

LY
I

A
Z]

=Y

A

C: IV B:1IV 4:1

34) F(-2,-1) E(-1,3) D(-1,-1)
Ay

rd

%Y

A

Y

F:1I E-I0I D: 10

=Y



35) D(0,-1) E(4,-4) F(3,0)
Ay

A
=Y

Y
D: y-axis E: IV F:x-axis

37) K(3,0) L(4,1) M(-1,-3)
Ay

A
=Y

Y
K:x-axis L: 1 M: 10

39) F(1,4) G(3,4) H(3,-3)

A

A
=Y

F:1 G:1 H:IV

36) S(-4,2) R(3.,5) 0O(-2,-1)

s
o

A
4

Q.
>

LY
Z|

A

S:II R:1T O: 10

38) I(-1,-2) J(-2,4) K(2,-5)

4

\y

- S5

=Y

A

40) E(5,4) D(3,-4) <(5,-3)

rd
>

4
4

2.
I

- S5

%Y

A

(

E:1 D:IV C: IV

=Y



41) 7(2,3) U(3,3) v(-4,-2)

Ay
=
1
J R T R R 1 -

71 U:1 V- 11

43) (-2,4) D(4,2) E(-5,0)
Ay

J N P R 1 -
—4
%

C:II D:1I E:x-axis

45) J(-1,3) 1(-5, 2)k H(-1,-4)

d

A
=Y

J-I I H:1I

42) K(-3,-5) J(3,1) 1(1,-4)

s
o

A
4

Q.
>

LY
Z|

A

K:II J: 1 I: 1V

44) P(1,-4) 02,

4

) R(-1,-4)

=Y

A

(

P IV O: IV R: 1T

46) D(0,-1) (1,

4

) B(-5.5)

%Y

A

(

D:y-axis C:IV B:1I

=Y



47) S(-4,-3) 1(2,3) U(-2,-5)
Ay

A
=Y

Y
S:II 7:1 U: 10

49) H(2,0) 1(2,1) \J(3, 4)

J

A
=Y

51) U(-2,3) V(l,—}) w(-3,2)

4

A
=Y

48) E(-4,-1) F(2,4) G(5.5)

o

A
4

Q.
>

LY
Z|

A

E:Il F:1 G:1

50) L(-1,0) M(2,-2) N(2,4)

\y

=Y

A

(

L:x-axis M:IV N:1

52) H(-5,-5) G(3,

4

1) F(4,1)

%Y

A

H:1I G:1 F:1

=Y



53) 7(2,1) s8(1,3) R(-1,3)
Ay

A

71 S:1 R: 10

=Y

5 & B & Ji ;x
4
GO H:11I:1
57) G(-5,0) F(1,2) E(-4,4)
Ay
<5 I B £ a0 i

Y
G:x-axis F:1 E: I

54) D(1,4) E(0,4)

4

F(-5,2)
\y

o

- S5

A

4

D:1 E:y-axis F:1I

L(3,1)

\y

56) J(4,5) K(1,-1)
A

4

- S5

=Y

A

J: 1 K: IV L:1

58) ¢(5,3) B(0,-3)

A(-4,1)

\y

rd
>

4
4

2.
I

- S5

%Y

A

Y

C:1 B:y-axis 4:1I

-10-

=Y



59) S(—4,-4) R(0, 3\) o(1,0) 60) 7(3,-3) U(-1,-1) ¥(-5,3)

Ay
:—5 “4 B3 2 4 i ;x <—5 4 3 2 4l 4 ;x
Y ¥
S:II R: y-axis Q: x-axis r:Iv U1 v-1
61) J(-3,-1) K(-1,0) L(4,-2) 62) K(-2,-1) J(0,-1) 1(4,-3)
Ay Ay
<5 B3 b i 1 ;x 5 & B 2 i 4 ;x
B B’
J:II K:x-axis L: IV K: I J:y-axis I: IV
63) C(-5.-2) D(-1,4) E(-3,-2) 64) F(3,-2) G(-1,2) H(-5,-2)
t}\y Ay
<5 & 5 & 1 i <5 1 B b i 4 i
\ ¥
C:-1II D: I E:- 10 F:IV G: I H:1I

-11-



65) R(2,1) o1, 4)\ P(2,-3)

A

Y
R:1 O:II P:1IV

67) S(-2,2) T(—1,q) U0, —4)

AY

=Y

A

\J

S:II T:x-axis U: y-axis

69) E(-3,3) F(-2,2) G(-3,-5)
Ay

=Y

A

=Y

66) L(-5,5) M(-3,0) N(-3,3)

4

\y

o

- S5

A

4

L: I M:x-axis N:1I

68) S(-3,4) R(-4,

rd

-1) of1,-1)

=Y

A

S:O0 R:1I O: IV

70) J(3,5) 1(-2,-1) H(-5,5)

4

rd

\y

>

4
4

2.
I

- S5

%Y

A

J:1 I:1I H: I

-12-

=Y



71) K(-1,5) L(-2,-5) M(5,5) 72) B(1,3) <(-2,4) D(-2,-5)
Ay Ay
:—5 “4 B3 2 4 i ;x <—5 4 3 2 4l 4 i
Y KV
K:II L: 10 M:1 B:1 C:1II D: 10
73) D(-2,4) c(4,4) B(4,-5) 74) U(-2,-4) v(-2,-3) w(0,3)
Ay Ay
<5 B3 b i 1 ;x 5 & B 2 i 4 ;x
B B’
D:1I C:1 B:1IV U:T0 V-1 W: y-axis
75) 1(-5,-5) U(3,-2) V(-1,-1) 76) I'(3,-5) S(-2,0) R(3,4)
Ay Ay
<5 & 5 & 1 i <5 1 B b i 4 i
Y KV
70 U: IV V10 T:IV S:x-axis R: 1

-13-



77) D(2,-2) E(-3, ?I) F(-2,3) 78) I1(-2,-1) H(-3,-1) G(-4,2)

Ay
:—5 -4 3 2 4l 1 ;x <—5 -“4 3 2 4l 4 ;x
Y Y
D:IV E: I F:1I [:1I H:1I G: 1T
79) J(5,-1) K(-3,-4) L(-5,2) 80) E(—4.4) D(5,1) <(-1,3)
Ay Ay
<5 B3 b i 1 ;x 5 & B 2 i 4 ;x
B B
J:IV K: 1T L: 11 E:1l D:1I C: 11
81) 7(5,2) U(-3,-2) ¥(2,0) 82) U(-5,0) 1(0,-3) S(-5,1)
Ay Ay
<5 & 5 & 1 i <5 1 B b i 4 i
Y ’
T:1 U1 V:x-axis U:x-axis T:y-axis S: 1T

-14-



83) F(4,3) G(-4,-1) H(-1,-2) 84) C(-4,3) D(-4,2) E(0,-1)
Ay Ay
:—5 -4 3 2 4l 4 ;x <—5 -“4 3 2 4l 4 ;x
Y Y
F:1 G:III H:1I C:II D:1 E: y-axis
85) 5(-3,0) R(4,1) 0(0,4) 86) K(0,4) J(-4,-4) 1(-4,-1)
Ay Ay
<5 B3 b i 3 ;x 5 & B 2 i 4 ;x
Y B
S:x-axis R:1 Q: y-axis K:y-axis J: I [: 10
87) L(-5,4) M(—4,4) N(-5,-2) 88) R(3,-5) 0(-5,0) P(5,-2)
Ay Ay
<5 & 5 & 3 i <5 1 B b i 4 i
\ ’

L:I0 M:II N:1II

R: IV Q:x-axis P: IV

-15-



89) S(-1,-4) 71(-4,-2) U(3,-3) 90) 4(1,-3) B(-5,2) c(1,-4)
Ay Ay

s
o

A
4

Q.
>

:—5 -4 3 2 4l 3 ;x <—5 “4 3 2 4 ;x
Y Y
S:II 7:11 U:1IV A: IV B:1II C: IV
91) D(-5,5) «<(-3,-4) B(3,2) 92) E(-2,-3) F(-5,0) G(0,-4)
Ay Ay
<5 B3 b i 1 ;x 5 & B 2 i ;x
B B
D:1I C-II B:1 E:T F:x-axis G: y-axis
93) J(5,-2) 1(-5,-4) H(-2.-5) 94) R(1,-3) 0(5.5) P(-3,-4)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di i
Y ’
J:IV Il H: 10 R:IV O:1 P:1I

-16-



95) K(0,-1) L(-5, 1) M(-3,-5) 96) R(4,0) s(5.-2) 71(5,4)

c‘y

o

A
4

Q.
>

LY
Z Z|

:—5 -4 3 2 4l 1 ;x <—5 -“4 3 2 4l 4 ;x
Y Y
K:y-axis L: I M:1I R:x-axis S:IV T:1
97) U0, 1) ¥(5,-5) w(3.5) 98) D(3,2) E(5,0) F(1,4)
Ay Ay
<5 B3 b i 1 ;x 5 & B 2 i 4 ;x
B B
U:y-axis V:IV W:1 D:1 E:x-axis F: 1
99) U3,-4) v(4,-5) w(1,2) 100) 7(-1,4) H(5,-4) G(-1,3)
Ay Ay
<5 I B £ a0 1 i 5 & 5 & di i
Y ’
U:IV VIV w1 I:1 H:IV G: II

-17-



101) F(-2,-1) G(4,-5) H(-4,-2)

Ay

Al
4

A

=Y

\J

F-1I G: IV H:1I

-0 J: IV

103) E(-2,3) F(5,4) G(-4,-3)

A

A

=Y

E 1T F:1
H: y-axis I: x-axis

G: I

102) M(5,-1) L(3,3) K(5,-2)

J(_37 3) 1(3, 1)
Ay

5 & 5 2 >
¥

M:IV L:1 K: IV

J- I I:1

104) P(-3,1) 0(3,-3) R(-2,5)

53,2)  71(3.-4)
Ay

{—5 4 3 2 4l 4 ;x

-18-




105) S(4,2) 73,5 U(2,-3) 106) J(2,-1) K(-4,2) L(-4,0)
v(-1,-4) w3, \—3) M(4,0) N(1,32

\y

£l
J

4 4
4 B

LY
]

Al
Z Z]

A

A

=Y

5 % B b i T S 5 B B b i 1 3 4
i’ ¥
S:1 T:1 U: 1V J: IV K: I L:x-axis
V-1 w1V M: x-axis N:1
107) G(-4,3) F(3,-1) E(-1,-4) 108) G(3,3) H(3,-5) 1(-2,-5)
D(0,-2) ¢(0,-3) J(1,-1) K(3,5)
Ay Ay
<—5 “4 B3 2 4 1 ;x {—5 4 3 2 4l 4 ;x
B B’
G 1I F: IV E- 10 G:1 H:IV I 110
D: y-axis C: y-axis J:IV K: 1

-19-



109) J(-1,5) KX(3,3)
M(1,0) N3, 0)k

rs

L(—4,-5)

y

Al
4

A

J: 10 K:1 L: 10
M: x-axis N: x-axis

111) 4(5,-4) B(1,2)
D(5,5) EB,2)

Ay

c(1,4)

A

=Y

A: IV B:1 C:1
D:1 E:1

=Y

110) F(0,-5) G(5,2)
1-5,2)  J(-2,3)

H(1,5)

£l
J

A
4

LY
]

Al
Z]

A

a
Z|

2
=J]

4
=4

Y

F:y-axis G:1 H:1

I: 10 J: I
112) P(2,-5) 0(2,-3) R(4,5)
$3,2)  1(3,1)
Ay

s
>

A
4

LY
I

A
Z]

=Y

A

P:IV O:1IV R: 1
S:I T:1

-20-

%Y



113) B(2,5) «<(3,4) D(4,3)
EQ3,-4) F(4,2)

rs

\y

Al
4

A
=Y

B:1 C:1 D:1
E: IV F:1

115) 6(0,1)  H(2, 1)  1(-2,-4)

Ay

A
=Y

Y
G.y-axis H:1 I:1I
J: IV K:1I

114) H(1,-3) &(1,-1) F(0,4)
E(5,5) D(3,-3)

J

A
4

LY
]

Al
Z]

A

5 0 B 2 i ' E I

a
Z|

2
=J]

4
=4

Y
H:1IV G:1IV F:y-axis
E:1 D:1IV

116) 7(4,4) 5(3,2) R(-4,-2)

o(-1,-4) P0,3)

A
4

LY
I

A
Z]

=Y

A

r:1 S:1 R: 1T
Q: 1 P: y-axis

-21-

%Y



117) H(-3,-2) 1(2,-5) J(-1,3) 118) 0(-4,0)  R(1,-3) 5(-5,2)
K(-5,-4) L(3, ?:) r(-2,-2) U3,0

Ay

4 4
4 B

LY
]

Al
Z Z]

A

A

5 W B b i T e 5 B B 2 i N T R e
] Y

H:TI I: IV J: I O: x-axis R: IV S: I

K10 L:1 T:-1I U: x-axis

119) O(1,-5) R(5,1) S(=2,0) 120) B(0,1) ¢(1,2) D(3,1)

7(3,-5) u(1,0) E-1,1) F@4,1)
Ay Ay

<—5 -4 3 2 4 } ;x {—5 -“4 3 2 4l 4 ;x
B B

O: IV R 1 S x-axis B:y-axis C:1 D:1

T:1IV U:x-axis E: 1T F:1

-22-



121) E(-4,3) F(0,-1) &(2,0)
H(0,2) 1(4, —4?

Al
4

A
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530) £(10,9) F(4,-20) G(12,6)
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532) E(-11,1) F(-5,8) G(-4,4) H(-6,-7) 1(12,1)
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533) A(-7,-16) B(0,-2) (12,6)
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534) B(13,2) c(1,-11) D(0, 4) E(10,-1) F(-10,-20)
G(-10,-18) H(1,17) 1(-18,16) J(2,9) k(0,-9)
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535) A(-13,-5) B(-14,6)
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c(10,7) D(3,10) E(—4,-9)
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536) C(-17,5) D(-3,11) E(-9,-18) F(-20,-2) G(-6,19)
H(1,-14) 1(-2,-5) J(-2,-13) K(-15,5) L(-1,15)
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537) A(-16,20) B(20,-12) (19,-17)
F(-3,15) G(-18,-7) H(-9, 14)
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540) E(5,-18) F(0,1) G(17,16) H(2,-13) I(-4,6)
J(13,-6) Kk(17,2) L(-11,4) M(-6,3) Ng-ll,—s)
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542) E(6,-20)  F(15,11) G(-16,-7) H(0,-15) 1(12,-7)
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543) B(5,9) c(9,2) D(15,15) E(-13,5) F(2,19)
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544) C(-8,-14) D(4,-6)
H(10, 6) 1(20, 14)
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545) B(-18,-13) (15,17) D(0,6)  E(4,-20) F(1,2)
G(1,0) H(0,17) 1(-18,2) J(16,15) {((—10, 13)
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546) B(6,-3) c(19,5) D(1,20) E(8,3) F(-17, 16)
G(-16,-6) H(-14,3) 1(-8,-4) J(—16,—15)‘ K(-11,-1)
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547) N(-7,-15) M(9,-12) L(-15,16)
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J(16,-19) Kk(-14,8) L(-2,16) M(-16,-3) N(-8,-13)
Ay

S A N A
h b K o hock B 8

R
oD W B Wt o g D D e

A

I
w

L

I
i

RN

=
D

D P o th B Y4 N

& N O N T N N At R
- b b e

<

E: IV F:x-axis G:1

H:1V I: 10 J: IV
K:II L:1I M: 111
N:1II

-290-



549) J(-6,18) 1(9,-18)  H(-8.,2)
E(18,-5) D(-19,-6) c(-16,-18)

G(-17,-18) F(13,-8)
B(-7,20) A(-8,11)
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550) E(9,5) F(-3,13) G(-20,-14) H(-1,-16) 1(12,-5)
J(-12,18) k(-15,-11) L(10,-2) M(10, 50) N(1,-15)
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551) A(-8,2)  B(4,-9)

D(-14,1) E(-2,15)

F(17,-9) G(5,-20) H(-8,-4) 1(8,-13) J(-16,0)
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552) M(-11,-19) L(-5,15) K(-6,-11)
H(15,-8) G(12,-7) F(12, 16)
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553) D(19,-14) E(-1, 10)
I(-12,11)  J(-4,-1)

F(4,6) G(-12,-9) H(-2,4)
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554) D(0, -1) E(7,-19)  F(12,-19) G(-7,6) H(-5,6)
I(-13,-15) J(=20,-11) K(-5,18) (10, 16? M(20,3)
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555) D(10,12) E(4,-2) F(-10,18) G(-1,14) H(14,-18)
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556) N(16,—1) M(8,11)
1(5,15)  H(-2,18)
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557) c(16,18) D(-19,-8) E(-5,13) F(6,-12) G(17,-12)
H(-18,0) 1(1,-19)  J(-6,0) K(—18,—17)‘ L(2,-8)

]

S A N A
h b K o hock B 8

R
oD W B Wt o g D D e

A

I
w

L

I
i

RN

=
D

-
D P o th B WP e

L R N T N R R
- P

<

C:1 D:1I E: 11
F:IV G:IV  H:x-axis
I: IV J:x-axis K: 1T
LIV

-299-



558) €(9,12)  D(17,20) E@4,17) F(-10,20) G(-17,5)
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559) A(-11,-9) B(6,3) (-3, 12)
F(-15,19) G(-10,-18) H(-4,17)
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560) N(12,-13) M(-7,-6)
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561) A(-5,15) B(-10,-16) (6, -20)
F(-2,16) G(-11,4)  H(8,-10)
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562) €(3,-19) D(16,9) E(4,-14) F(-16,-5) G(-9,-13)
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565) D(8,16) E(-4,10)
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566) L(13,-20) K(10,1)
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568) E(-14,-3) F(-7,19)  G(-11,6)
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